MoHTaxHas anuHa: 180 mm

LIMpKyNsSILMOHHBIE HACOCHI C «MOKPbIM» POTOPOM

UPS 32-80 F 220 (PnaHueBOe coeanHeHue)
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= id Bl u [A] TexHn4yeckue gaHHbIe
L 135 0.60 HanpspkeHve nutaHus: 1x230B, 50Ty
2 200 0.90 TemnepaTtypa
nepekadmsaemon xugkoctn: ot -25 go +110 °C (TF 110)
3 220 0.98 ’
[aBneHue B cucteme: Makc. 10 6ap
Pazmepbl [MM] L B1 B2 H1 H2 D1 D2 D3 M1 M2
UPS 32-80 F 220 220 82 62 62 121 140 100 90 @19 a14
UPS 32-100 180
MoHTaxHaa gnuHa: 180 mm
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AnekTpuyeckue AaHHbIe TexHu4yeckune gaHHbIe
CKopocTb P1 [B1] 1, [A] HanpsxeHvne nutaHus: 1x2308B, 50y
Temnepatypa
1 280 1.30 nepekaymBaemon xugkoctn: ot -25 go +110 °C (TF 110)
2 340 1.50 [aBnexune B cucteme: Makc. 10 6ap
3 345 1.52
Pazmepbl [MM] L B1 B2 H1 H2 D1 D2 G [aronm]
UPS 32-100 180 180 90 68 47 150 - - 2’

52 GRUNDFOS %



